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5. A (2c43y+1) - (24 y-3) & 2rDe] 5hH?

@ 2x+2y-3 @ 2x+2y+1 ® 2x+4
(@)2y+4 ® -3

(2x+3y+1)—(2x+y-3)=2x+3y+1-2x—y+3=2y+4
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4-x%-2{1+3x*-4(2-3x)}
=4-x2-2(1+3x% -8+ 12x)
=4-x2-2(3x2 -7+ 12x)
=4-x%-6x2+ 14 - 24x
=-Tx%> - 24x+ 18
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M) 15cm @ 18cm ® 20cm
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AF = AB =18 (cm)

CD = DE = 18 (cm)

AF +ED - EF = 21 (cm) °|2&
EF = 18+ 18 - 21 = 15 (cm)
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12. o8 192 AD//BC < Atthel® ABCD o4 AE 9} F = 217t
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9} DC 9] ZHo]1l, AD = 6cm, PQ = 3em € ©f, BC o] Zo|=?

@ 8cm @ 10cm @12cm @ 1l4cm ® 15cm

AE : AB =1:2°]22 EP = 3cm ©|t}. AABC o4 EQ =
6em, 6:x=1:20|B& x=6x2=12 o]t}
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® (7D : BAAF, (1) : 9em

OEFGH 9] B2 HAFF0]aL, BC 9] Zol= 5cm °|tt.
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H|| A& AAFSHH 2x + 4y + 18 = 5x 4+ 5y, y = —-3x + 18
y=-3x+182 0.1x-0.2y = —-1.5°] HY3FA 0.1x-0.2(-3x+
18) = -1.5 9] 10= H5IH

x—2(-3x+18) = -15

x+6x—36=-15

Tx=21, x=3

metA] y=9 0|2 x:y1:3olch
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B Q C
@® OA=0C @)0B = 0C
® OP =0Q @ OD = 0B

® aAOP = ACOQ
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AO =0C, /AOP = /COQ, £OAP = /OCQO]2& AAOP =
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